EARAROBEEIERT — 2 N— IBISH —F

201358H22H0 (k) 9EIFIRI6H

IR FREE 4 5R3®ROP

‘ (] 8 ‘ (EmmEl  — | 4 (/) 26000 BE

[A~&£] 17 4,000,000  ~ 23 :800,000H 37 :600,000H

4 7& 400,000 . 5 j& 200,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s s . s o3 | NEET 2:51.4 8-9-1-1 [38.3| — 4 454 | ZIWWFRI (timsE)
(155 E—E—2E> 56.0 ol e | 0B RS
LNTVALTzA—- BAY/IF1—F sl 1E
= 4 4 3 | ATEEH 2:52.0 3-4-1-1 | 38.9| — 3 504 | FILFEN (ALimsE)
olglg| 77277 — 56.0 3) (-4) | BEFEL
L:05%>TF— B35 v ML BRYS
-5 4 3 | BB 2:53.9 4-6-6-8 | 40.1| — 2 506 | EFEE (dbiEE)
3/8/8 LAZHX 56.0 (9) o) EHEE =
RZAFAT=IE B4 7947 ERT7—L
= 2 . 3 | BT 2:55.4 4-3-6-6 | 41.6| — 6 466 | RARE (ILiEE)
4 4| 717 *1 > 56.0 @ (+2) AL .
LT RIAYAA4> B:IAT4—%T b BEE &
LRES 3 | BHEHA 2:55.7 2-2-3-3 | 42.1| — 5 450 | AN (GLisE)
5 6 N2 REY 21— e 54.0 (11/2) (-4) ED?@EﬂE =
R:d—RAMO— B:Axyavgd Yy ZR77—L4
2 4 3 | BRERE 2:57.1 9-8-6-4 |43.3| — 1 480 | EBHEE] (ILiEE)
6l1]1|3I—2B— 56.0 %) (5) | IHESR
L:TUHSA XTI R B:HH/ IV BNBEHNS
#HRE .57. —6-3- . - HpEZ (dtiE)
77777 Fy i 3 it 2(527>5 6-6-3-4 | 43.9 8 ;1_5;6) Foie i
LTUBARIL K BHELTHAHE i <
s = =2 9N : —5-0— — Kl Math (AbigE)
8 2| XT77NERY "3 56.0 (27'?;;) 599 | 4.0 ° f;) =HEER -
L:d—IRAq1O— B:XF—J)—-Z> fisibie ]
praps =t &% REFR :59. -1-3- . — REERE (dted)
9 NESN-PY e 3 e 2(35/94)9 1-1-3-6 | 46.3 7 (4_626) g Bl
R:7yv3Is—L B:77EZZbOVYT HNEEKS
® I—F—@EBIERL
|S=7r= 3,6,9,(4,8),(2,7),5,1
Ao=5"= 3,6,4,9,2,(7,8),1,5
JF=7r= (5,9),(3.6,7),(1,4,8),2
43—+ — (5,9).6,(1,7),(3,4),8,2
[ N5
B 5 460/ 794K 5-9 330 & 5-8 5004 &R 5-8-9 1,120
# B 5 170 5-8 350 B E 5-9 930 EE 5-9-8 8,330
9 200M 8-9 380M B H 5-9 2,480M
8 160/

ABICOVWTRDTEEERROODE. TR LIV,




